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SECTION A — (10 × 2 = 20 marks)
Answer any TEN questions.
1. Define – Probability.
2. What is meant by ‘Sampling’?
3. List out the types of Hypothesis.
4. Explain the term ‘Basic Feasible Solution’.
5. Explain the term PERT.
6. A coin is tossed twice. Find the probability of getting at least one head.
7. A perfect die is tossed twice. Find the probability of getting a total of 9.
8. The Standard deviation of a sample of size 50 is 6.3. Could this have come from a normal population with S.D – 6?
9. If the value of (0 - E)2 = 258 and E = 20. Find the value of Chi-Square test.
(Table value of Chi square @ 5df = 11.07.)
10.  Solve the following Assignment problems:
		             	A	   B	     C
                  I		10        7	     8
                  II	  	8	   9	     7		
                  III        7	  12 	     6
11. The following data are the characteristics draw the network diagram of a project:
	Activity
	A
	B
	C
	D
	E
	F

	Immediate Predecessor
	--
	A
	A
	B,C
	--
	E

	Duration in days
	2
	3
	4
	6
	2
	8


12. The following table gives the activities in a construction project and other relevant information:
      Activity:              	1-2            1-3	    2-3       2-4	     3-4	    4-5
      Duration (days):    	20              25	    10	        12             6             10
Draw the network for the project.
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.
13. Explain the various types of Sampling.
14. A bag contains 4 white and 6 black balls. Two balls are drawn at random. What is the probability that       (a) both are white	(b) both are Black	(c) One white and one black?
15.  A sample of ten house owners is drawn and the following values of their incomes are obtained. Mean         ` 6000 Standard deviation `650. Test hypothesis that average income of house owners of the town is `5,500. Table value of t for 9 df at 5% level = 2.262.

 (
[P.T.O]
)
16.  Two samples of 6 and 5 items respectively gave the following data:
Sample 			        		 A		 B
Sample Mean				40		50 		
S.D			  		8		10
	Is the difference between the mean significant?
  	 (Table Value of F – 7,9 df at 5% level = 3.29)
17. Four jobs can be processed on four different machines, one job on one machine. Resulting times in minutes vary with assignments. They are given below:
			               Machines
 (
A
B
C
D
I
42
35
28
21
II
30
25
20
15
III
30
25
20
15
IV
24
20
16
12
)						

						
		Jobs


		Find the optimal assignment of jobs to machines and the corresponding profit.
18. Find the following transportation problems by North West Corner Method:
	                               
	A
	B
	C
	Availability

	W1
	10
	9
	8
	8

	W2
	10
	7
	10
	7

	W3
	11
	9
	7
	9

	W4
	12
	14
	10
	4

	Requirement
	10
	10
	8
	28


19. A project consists of 12 jobs. Draw a project network and determine the critical path.
	Jobs
	Duration
	Jobs
	Duration

	1 - 2
2 - 3
2 - 4
3 - 4
3 - 5
4 - 6
	2
7
3
3
5
3
	5 - 8
6 - 7
6 - 10
7 - 9
8 - 9
9 - 10
	5
8
4
4
1
7



SECTION C — (2 × 15 = 30 marks)
Answer any TWO questions.
20. A husband and wife appear in an interview for two vacancies in the same post. The probability of husband’s selection is 1/7 and that of wife is 1/5. What is the probability that,
 i. Both of them will be selected 		ii. None of them will be selected	
iii. Only one of them will be selected

21. The following data is collected on two characteristics :
	
	Smokers
	Non Smokers

	Literate
	83
	57

	Illiterate
	45
	68


Based on this you can say that there is no relation between the habit of smoking and literacy.
(Table value of X2  for 1 df = 3.84)
22. Find the minimum cost solution for the following transportation problems by VAM:
                           
	
	W1
	W2
	W3
	W4
	Availability

	F1
	48
	60
	56
	58
	140

	F2
	45
	55
	53
	60
	260

	F3
	50
	65
	60
	62
	360

	F4
	52
	64
	55
	61
	220

	Requirement
	200
	320
	250
	210
	


23. The activities of a project have the following PERT time estimates.
	Job
	Optimistic time
	Most likely time
	Pessimistic time

	1-2
	3
	6
	15

	1-6
	2
	5
	14

	2-3
	6
	12
	30

	2-4
	2
	5
	8

	3-5
	5
	11
	17

	4-5
	3
	6
	15

	5-8
	1
	4
	7

	6-7
	3
	9
	27

	7-8
	4
	19
	28


i. Draw a network diagram and determine the critical path.
ii. Find the project completion time and its variance.
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